Mental Computation (End term 4 - Sample 1)
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(27)

2 (N6.3)

Simplify:  a2xa4


























































(a6)

3 (PA6.2)
Expand:  −2(5x − 3)
 
















































(−10x+6)


4 (M6.1)

What is the formula for the area of a circle?

































(πr2)




5 (M6.1)

What is Pythagoras' Theorem?







































(a2=b2+c2)


6 (M6.1)

Two sides in a right-angled triangle are 2 and 5.  Hypotenuse?
















(√29)


7 (M6.1)

What is the Tan ratio?
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8 (PA6.2)
Solve the equation:  4x + 11 = 3








































(x=−2)


9 (S5.2)


What is the bearing of SW?













































(225°)

10 (N5.3)

I buy four apples at $1.25 each.  What is the total cost?






















($5)
Mental Computation (End term 4 - Sample 2)
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(8)

2 (N6.3)

Simplify:  a3xa2


























































(a5)

3 (PA6.2)
Expand:  −3(2x − 5)
 
















































(−6x+15)


4 (M6.1)

What is the formula for the volume of a cylinder?



























(πr2h)



5 (M6.1)

What is Pythagoras' Theorem?







































(a2=b2+c2)


6 (M6.1)

Two sides in a right-angled triangle are 2 and 3.  Hypotenuse?
















(√13)


7 (M6.1)

What is the Tan ratio?
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)


8 (PA6.2)
Solve the equation:  3x + 10 = 1








































(x=−3)


9 (S5.2)


What is the bearing of SE?














































(135°)

10 (N5.3)

I buy four apples at $1.50 each.  What is the total cost?






















($6)
Mental Computation (End term 4 - Sample 3)



1 (N6.1)
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(64)

2 (N6.3)

Simplify:  a4xa2


























































(a6)

3 (PA6.2)
Expand:  −5(3x − 2)
 















































(−15x+10)


4 (M6.1)

What is the formula for the area of a circle?

































(πr2)



5 (M6.1)

What is Pythagoras' Theorem?







































(a2=b2+c2)


6 (M6.1)

Two sides in a right-angled triangle are 3 and 4.  Hypotenuse?


















(5)


7 (M6.1)

What is the Tan ratio?










































([image: image6.wmf]adjacent

opposite

Tan

=

J

)


8 (PA6.2)
Solve the equation:  2x + 9 = 3









































(x=−3)


9 (S5.2)


What is the bearing of W?














































(270°)

10 (N5.3)

I buy four apples at $1.60 each.  What is the total cost?




















($6.40)




























































